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Outline

> PythonE il 4518
» Sequence
> List
> tuple
» Non-sequence

» dictionary
> set



sequence(F3)

»The value |

®» operators
®»he + and * operator

» SUbscript indexing for retrieving element values
The >, <, >=, <=, ==, |= operator

®»The in and not in operator

®» Slicing expressions: variable_name|[start:end:step]
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Tuple

®» A fuple is an immutable sequence, which means
that it cannot be changed

®» A fuple is a sequence, very much like a list.
Once a tuple is created, it cannot be changed

®» You enclose its elements in a set of parentheses() to
create a tuple.

» fuple2=(1,2,3)
» fuple3=tuple(range(9))



Tuple operation

» Nofice: tuple cannot be changed : T[0]=1 OO&rror)
» + operator (EFEE 1)

» (1,2,3)+(“Taipel”,"Tokyo",”Vienna™)
» * operator (EEEEZE )

» 3*%(1,3,6)
»> < >= <= ==, |=operators
= (1,"Python”,"R") == (“Python”,”R",1) #False

» (1,2,3) < (1,2,3,4) # True
= in A not in operator
» “Taipei” in (1, “Taipei”, 2, “Tokyo”) # True
» |[ndexing and slicing: tuple_name([start:end:step]



Tuple operation(cont.)

» |[ndexing and slicing

T
T
T
1
1

=(5,10,15,20, 25, 30, 35, 40)

0] # &R3|E—Et=

2:5] #ZR5|12F4MTE(AZEG]5)
-1 # Es5ImxEB—Et&E

6:-1] #ZFE5[6F|-29 TR (AZESI-1)
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SET

®» A sef contains a collection of unigue value and
work like a mathematical set.

®» A sef cannot contain duplicate elements.

®» Sets are unordered.

= No support +, * [index], [start:end]... (AR BEEEBE ¥ (+) -
SEEE T () F5EET([]) - REERE T ([star:end]) L E M
H|EFrARRESR)

» Create an empty set: set1=set()
» set2={"Taipei”,"NY"}

» set3=sef([1,2,3,.3,2,2])

» set4=set(range(9))




SET: >, <, >=, <=, ==, |=

S1={'Python','Java’,'matlab'}
S2={'Python','Java’,'matlab’','R'"}
S3={'Python','matlab','Java'}

print(S1==S3) #True

print(S1 !=S2) #True

print(S1<=S2) # True (S1 is a subset of S2)
print(S1< S2)




The method (function) in set

»S51={10, 20, 30, 40, 50}

»S1.add(60)
ST.remove(30)

= S1.pop()

»S572=S1.copy()

»S].clear()




The operations of any two sets

» Union: B4 (| )

» |nfersection: 22 & (&)

» Difference set: Z=£(-)

» Mutudlly exclusive B fx(A)

Al=set('1234’)
A2=set('357')

print(Al | A2)
print(Al&A2)
print(A1-A2) # A2-Al=¢
printf(ATAA2)
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Question 1
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Question 2
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list1=[['apple’,25],['orange’,10],[‘fig’,12],['lemon’,20]] -
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